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Проверь себя!

96 5 7 10 8



Реши задачу!

    Для 
украшения 
ёлки купили 4 
красных шара, 
а синих  шаров 
на 3 больше. 

    Сколько синих 
шаров купили? 

Проверь себя!

4 +3 =7 (ш.)

Ответ: 7 ш.



Начерти и реши задачу!
• Начерти зелёный 
отрезок длиной 7 
сантиметров, 
синий отрезок – 
длиной 3 
сантиметра.

• Узнай на сколько 
сантиметров 
зелёный отрезок 
длиннее синего.

Проверь себя!

7-3=4 (см)

Ответ: на 4 см



Реши 
неравенства.

3*8         5+2*3

7*9         8*5+3

10*0       6-2*3

9*6         7*4+3



Реши примеры

10-2=
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Найди ошибки!

5+3=8          6-2=3

7-2=4           8-3=5

3+2=6          9-3=7
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Реши задачу!
    Дед  Мороз на 
празднике в 
детском саду  
раздал 6 
подарков 
мальчикам и 4 
подарка 
девочкам. 
Сколько всего 
подарков раздал 
Дед Мороз в 
детском саду?

6 +4=10 (п.)

Ответ: 10 п.



Внимание!

   На каникулы 
школьники 
отправились 29 
декабря.

   В  школу на занятия 
нужно прийти 9 
января.

   Сколько дней 
длятся новогодние 
каникулы? 11 

ДНЕЙ
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